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Please answer all five questions.  To receive full credit, you must show any work you did to arrive at an answer. All graphs must be completely labeled.  The point total for each question is indicated. Good Luck!
1. (20)
Almost since its inception as a firm, DeBeers has had near total control over the international diamond market.  Firms that attempt to buy diamonds through other channels are subsequently punished by DeBeers through the withdrawal of access to good diamonds.

A.
Assuming that DeBeers is, de facto, the sole supplier of gem-quality diamonds, illustrate its price, quantity and profits.
i.
Monopolies are frequently regulated to operate in the public interest.  If DeBeers was forced to operate at the point of social (allocative) efficiency, label its new price, quantity and profits.  What is good about this point?

Part II-What is one positive aspect about having a monopolized market?  Does it apply in this case?

2. (25)
The market for chocolate in the U.S. is dominated by three firms, Hershey’s, Nestle and Mars.  Each firm offers similar versions of many types of candy bars.
a.
Illustrate the equilibrium price, quantity and profits for Hershey’s.  Assume that profits are being made.

i.
What barrier to entry might be at work here keeping other firms out?  Given that there are other providers of chocolate besides the “big three”, what would you say about the effectiveness of this barrier?

b.
Suppose the top three firms form a cartel, and fix prices on chocolate.  Show the price, quantity and profits of Hershey’s within the cartel.  Show the firm has an incentive to cheat.

Part II – Suppose the numbers below represent the profits of Hershey’s and Nestles based upon pricing of similar bars of chocolate:







Hershey’s





$1.50/bar

$1.00/bar




$1.50

$300m/$250m

$200m/$350m


Nestles




$1.00

$500m/$100m

$250m/$200m

a.
Use these numbers to explain why competition on price ceases between the two firms.
3. (15)
The Connecticut coast is filled with numerous seafood restaurants, all of which offer a varied (differentiated) menu.  Assume at the moment, due to the strong economy, all of these restaurants are making economic profits.

a.
Graphically illustrate the equilibrium for Oscar’s Seafood.  Make sure you label the price, quantity and profits.

b.
Show the long-run equilibrium for Oscar’s.

Part II – Locate the point of social efficiency on your graph in b).  What would be good about Oscar’s operating at this point?  Why is it not possible for Oscar’s to operate there?

4. (20)
Fresh butter is produced by thousands of farms, and is considered a homogeneous product by consumers.  Suppose that over-production of butter in the U.S. has led to reduced prices, and losses for a typical farmer.
a.
Show equilibrium for the market and for a typical farm if butter producers rationally decide to stay open in the short-run.  Make sure you label the price, quantity and profits of a typical producer.

b.
Show the long-run adjustment for the farm and the market

Part II - Demonstrate that perfect competition achieves both types of efficiency we discussed.
5. (20)
Part I – The Carter Chemical Company (CCC) produces a significant amount of air pollution as a consequence of producing its products.  The company can eliminate the air pollution through the use of expensive scrubbers, but is concerned about the extra cost involved.  CCC would be forced to raise its price, and its customers would probably buy from a different supplier.
a.
Graphically show the price, quantity and profits of CCC if it doesn’t pay to 


eliminate the air pollution.


i.
Indicate the firm’s price, quantity and profits if the cost is internalized.


ii.
State three ways in which this outcome is superior to letting the firm continue to pollute.


iii.
Why does this solution address CCC’s concerns about losing customers (hint:  What is likely to happen to CCC’s competitors also)?

Part II – Suppose, after Hurricane Katrina, the federal government does finally install 

adequate flood protection in New Orleans.  State clearly why this is a Public Good, and how the Free Rider problem applies to this example.  Explain why people would likely lie if asked specifically how much they valued flood control.
Part III – Explain the rationale for Consumer Protection.  Why does that rationale make more sense in the case of the FAA and the FDA then it does for the Consumer Product Safety Commission?  How would markets address the work of the latter?
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